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oK # X A HEH 5 £ it

001 T & B 501 525 624 1,149
002 T x BT 708 782 797 1,579
03| + #H H fr 357 331 323 654
004 | = % i) 955 1,140 1,078 2,218
005 | X R i) 716 794 863 1,657
006 | £ & F M 1,326 1,511 1,459 2,970
007 | #& B i) 161 230 187 417
008 | 5 it i) 790 866 928 1,794
009 | K & i) 556 714 723 1,437
010 | & H i) 1,173 1,467 1,540 3,007
ol | £ B F H 740 840 874 1,714
012 | o # i) 898 1,088 1,255 2,343
013 | 3h H i) 562 694 758 1,452
014 | & R i) 855 1,003 1,034 2,037
015 | & BX i) 114 132 160 292
061 XRHE—TH 31 30 20 50
062 | X B —TH 220 196 194 390
063 | XFEHET=TBH 13 30 38 68
064 | XFHETMWTH 94 82 115 197
0711 | X% AE—TH 33 26 33 59
072 | £HBABR_-TH 229 218 195 413

A

a-F| # X £ ks 3 = g
081 mE — TBH 0 0 0 0
082 | M BT — T B 27 749 80 829
083 | M8 BT = T H 154 142 158 300
091 | Az BT — T B 78 75 95 170
092 | s BT = T B 84 233 375 608
101 A E—TBH 105 105 96 201
111 +tEHE—TEH 106 126 111 237
112 +TESHEZ-TH 81 66 64 130
113 | rEHB=TH 99 100 109 209
114 | FEHBWTH 153 149 164 313
115 | FEHBATH 142 116 153 269
116 | FEHBEIATH 145 123 134 257
117 | rEHBETH 124 133 155 288
118 | +EHBEIATEH 159 154 144 298
121 EBFH—TH 71 63 80 143
122 EBFHM_-TH 53 67 68 135
123 EBFH=TEH 66 60 77 137
124 | EBEFEOEOTA 67 70 53 123
125 | EBEFEATH 85 97 98 195
126 | EBFEATH 142 122 124 246
127 | EBFHMETH 134 92 141 233

& it 13,107 15,541 15,677 31,218




